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4 R 5H 6 A 7R 8H 9H
1 B AEEk HikEks 1K 1 x 1 A T—LEE 1K 1 B
2 X ELLRE| 2 0« 2 B 2 &k ECC 2 % 2 A
3 K Hvuh— 3 & 3 A 3 Kk Yyh— 3 * 3 X ECC
4 XK b4 1] 4 £ 4 X ECC 4 K 4 H 4 Xk Hyh—
5 & 5 H 5 K Yvh— 5 & t89FDY 5 A 5 X
6 = 6 A 6 XK 6 = 6 X ECC 6 2
7 H 7 X ECC 7 £ 7 H 7 K Hvh— 7 (FKRAFEDY)
8 A 8 X ¥yh— 8 = 8 A 8 XK 8 B
9 & ECC 9 K 9 H 9 X ECC 9 & (ERGHE18:00~) o A
10 X Hyh— 10 # 10 A 10 X HYyh— 10 =+ 10 %X ECC
11 K 11 = FESE- SEhks 11 %X ECC 11 K 11 H 11 K Hyh—
12 £ (2H=EE18:00~) 12 H 12 Kk Hyh— 12 & (2(k&£8818:00~) | 12 A 12 K
13 £ 13 A 13 KX HERE 13 + 13 X HFEEEF EEAL|| 18 & HIEE (2SS
14 H v 14 X ECC 14 & (2H5#18:00~) 14 B 14 Xk mERE-RBGY | 14 £
15 A 15 K HYvh— 15 = 15 A 15 K v 15 H
16 X ECC 16 Xk 16 H 16 X ECC 16 2 v/ 16 A
17 K $yh— 17 & (24=H#18:00~) 17 A 17 K Yyh— 17+ 17 X ECC
18 K 18 =% 18 & ECC 18 K 18 H 18 K Hyh—
19 & 19 H 19 Kk Yvh— 19 £ J4s 19 A 19 X
20 =+ 20 A 20 K 20 = 20 X ECC 20 £ SIS
21 H 21 ®k ECC 21 & H4ES 21 H 21 K Hyh— 21 +
22 A 22 XK HYyh— 22 % 22 R 22 K 22 AH
23 X BsiliE- ECC 23 K 23 H 23 X ECC 23 & S 23 A
24 XK Hyh— 24 % F4EL 24 A 24 XK HYyh— 24 % 24 X ECC
25 XK 25 *+ 25 X Ml ECC 25 XK 25 H 25 K Hyh—
26 % 4R 26 H 26 KX Yyh— 26 & [HSHIlE 26 A 26 K
27 * 27 R 27 XK 27 £ EFYHH->FEDOY 27 X ECC 27 = H4ER
28 H 28 X HRHRE 28 & REREHE 28 H 28 K Hyh— 28 =+
29 A 29 XK HYvh— 29 £ 29 A 29 K 29 H
30 X 30 XK 30 H 30 X ECC 30 £ 4% 30 A

31 & B 31 XK Hyh— 31 =+
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10H 11H 12H l 1A 2R 3R

1 % REHRD 1 & 1 A 1 KRB SEREESR 1 * 1 H

2 Kk Hyh— 2 + 2 H 2 x| 2 H 2 A

3 K 3 H 3 % ECC 3 & V 3 A H9H0OK BUSEHRs | 3 K FEAHOEH EC
4 % 4 A 4 X Yyh— 4  + HERE #auL | 4 X ECC 4 K Hyh—

5 =+ 5 X ECC 5 XK 5 B FFRSL—F] 5 X Yvh— 5 X

6 B8 6 KX Yyuh— 6 % 6 B 6 K 6 £ BINRE(EFS)
7 A 7 XK 7 = 7 R BER=ED) -EC 7 % 7 x

8 ® ECC 8 £ BFEREHFEP 8 H 8 Kk Hvh— 8 = 8 H

9 Kk Hyuh— 9 = 9 A 9 x 9 H 9 A

10 K 10 B 10 X ECC 10 2 (228 10 A 10 % ECC

11 & 11 A 11 K HYvh— 11 % 11 K 11 K Hyh—

12 + EBE 12 X ECC 12 K 12 H 12 XKk Hyh— 12 XK

13 H© 18 Kk Yvh— 13 € ok (@RS 13 A 13 K 13 & R

14 A 14 XK 14 £ 14 %X ECC 14 £ (FEH 14 =+

15 X ECC 15 & [HEEIE 15 H 15 K Hyh— 15 * 15 H

16 K Hyvh— 16 =% 16 A 16 K 16 H 16 A

17 XK 17 H 17 X ECC 17 & RS 17 A 17 ®X ECC

18 £ AR EEESD 18 A 18 Kk HYUYRTRE 18 = 18 X ECC 18 XKk Hvyh—

19 * 19 % ECC 19 K 19 H 19 Kk Hvyh— 19 K

20 A 20 Xk Yvh— 20 £ B4R 20 A 20 XK 20 %

21 A 21 X 21 + 21 % ECC 21 £ RSN 21  + ZFmEst

22 K 22 £ 22 H 22 Xk Yyh— 22 =+ 22 AH

23 kK Hyh— 23 t+ 4&FERFRLBHE 23 A 23 XK 23 H 23 A

24 XK 24 H 24 X ECC 24 % 4R 24 A 24 X

25 ® &S 25 A 25 X Youh— FERE 25 + 25 ®* ECC 25 Kk Yyh—

26 = 26 X ECC 26 K 26 H 26 XK Hyh— 26 K

27 H 27 XK Yyh— 27 & 27 A 27 XK 27 %

28 H 28 Xk 28 + 28 X ECC 28 & HE4EL (RS 28 =+ FERE
29 X /\AY4Y-ECC | 29 & 4% 29 H v 29 Xk Yyh— 29 + 29 H

30 Xk Hyh— 30 =+ 30 A KB FXREH 30 XK 30 A

31 XK 31 % \l/ 31 & 31 ® v
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